Q)) ONKRON FSPRO2L-22

Multi functional Professional Mobile Stand 43"-55"
HanonbHbIM MoBUIBbHbLIN CTeHA OnA BuaeocTeH 43"- 55"

Screen size
Zam (43" - 55

Min-max weight
4 x (50 kg)
4 x (110 lbs)

VESA

200x200, 200x300,
300x200, 300x300,
300x400, 400x200,
400x300, 400x400,
600x400 mm

(=) USER GUIDE

(') PYKOBOACTBO MOJIb30BATENA




) ONKRON

EN Thank you for choosing ONKRON!

We want you to be completely satisfied with your new unit. Please, if you have any questions, issues or safety
concerns, please contact our sales team. We will respond promptly.

BECAUSE WE CARE

Please share your thoughts and feelings or ideas with us about our product. Help us to continue to deliver the best
quality designs. Please take a moment and leave us an online review. Thank you! Sincerely, ONKRON.

USA: info@onkron.us / +13159682278

Europe: info@onkron.de / +494029996807

IMPORTANT

Verify from the checklist all components are included BEFORE installation. Contact our sales support team for
replacements if any parts are missing or appear defective.

Verify the screen is compatible with the unit BEFORE attaching to the mounting bracket according to VESA
patterns and support screen weight. Installation may require a professional.

CAUTION

. Please read the entire instructions and safety guidelines prior to assembly. Failure to do so may cause personal
injury, product damage, and additional property damage.

. Always wear suitable personal protective equipment and use the correct tools to safety perform the installation.

. DO NOT exceed the maximum weight rating of the unit, make non-factory approved modifications, use the unit
outside of its factory approved purpose, or OVERTIGHTEN any assembly screws used to join components.

. Use only the factory provided mounting screws as indicated in the instructions.

J Ensure the construction of attaching surfaces has the structural integrity to support the combined weight of the
unit and all additional hardware and components. Also, be aware of the working environment surrounding the
unit which could result in accidental damage such as (but not limited to), foot traffic, shelves containing objects
that may fall, and insufficient work space. The user must exercise due diligence.

. Keep children away from the assembly hardware. The small pieces may result in choking if swallowed.

WARRANTY: Not under mandatory certification. Unlimited lifespan. 5 YEARS WARRANTY.

RU Cnacuébo, uto Bei6panu Hac!

Mbl HageeMcA, uTo Bl 0BOBHBI NOKYMKOW. Ecnin Bam noHpaBuncA Hall NpoayKT, NoManyicTa, octaBbTe Balw oT3biB.
BAXHO

MEPE[ HavyanoM c6opku y6eauTtech B TOM, YTO Bbl MONY4UIM Bce HeobxoamMble AnA c6opku getanu. CBepbTech o
cnvcKoM. Ecnv getaneii He XBaTaeT U OHU UMetoT AedeKTbl, CBAMKUTECH C HALLEI CEPBUCHOM CITYKBE0M.

Ecnu y Bac BO3HWKIM BOMpOCh! UK Kakve-nnbo npobneMsl, To Bbl MoXeTe cBA3ATLCA C HaMV B Nto6oe BpeMs, U Mbl
BaM nomorkem:

Poccus: support@onkron.ru / +78007772176

MonHoCTbIO NpoYMTalTe AaHHYI0 MHCTPYKLMIO 40 HaYana c60pKuM 1 ycTaHoBKW. Mpy BO3HUKHOBEHWM BOMPOCOB Mo
c6opKe 1 3KcnyaTaumy NpodyKTa CBAMKUTECH C HALLE CEPBUCHOI CIYHBOM.

BHUMAHME

. Mcnonb3oBaHue npoAyKTa € YCTPOMCTBaMM, MPEeBbIAKLMMN AONYCTUMBIA BEC, MOXEeT MPUBECTU K
HenpaBWsIbHON ero paboTe, MOHOM NONIOMKE M TPaBMaM MoJib3oBaTesNA.

. MpoayKT AonKeH 6biTb COBPaH COrMacHoO AaHHOW MHCTPYKUMW. HeBepHaA yCTaHOBKA MOXET MPUHECTU Bpen
3[10pOBbIO NOSb30BaTENA.

. Heob6xoMMo uMcronib3oBaHWe CPefcTB MHAMBMAYANbHOW 3aluTbl U NPaBUMbHBIX MHCTPYMeHTOB. [podyKT
[l0KeH 6bITb cobpaH 1 ycTaHOoBSIEH NPOGECCUOHANOM.

. Y6eautecb, YTo paboyas MOBEPXHOCTb CrMOCOBHA BblAEpMaTb CYMMapHbIi BeC NMPoAyKTa, UCMoNb3yeMoro
YCTPOICTBA U BCEX AOMOHUTE TbHbBIX KOMMOHEHTOB.

. Vicnonb3yiiTe Kpenex u3 koMnneKTa noctasku u HE NMEPETAMMBAITE ero Bo BpeMs C60pKM, W yCTaHOBKM.

. MpoayKT CoaepHuT Menikve AeTanu, KoTopble MOryT BbI3BaTb YAYLIEHWE NPU NpornaTbiBaHUU. XpaHuTe ux B
HeAoCTyMHOM A1A AeTei MecTe.

. HeBepHoe ucronb3oBaHWe NpofyKTa MOMKET MPUBECTY K €r0 NMOJIOMKE U TpaBMaM.

. Mepen ycTaHOBKO 3KpaHa y6eanTech, 4To AaHHaA Mofesb NoAAepHMBAETCA MPOAYKTOM.

. MpoBepbTe VESA KpenneHue, BEC 3KpaHa v ero AMaroHarb.

. YcTaHOBKa HeMoAAepH1BAEMOr0 3KpaHa MOXKET MPUBECTY K NMOIOMKE NPOAYKTa U TpaBMaM.

FAPAHTUA: Cpok cny6bl He orpaHuyeH. TAPAHTUA 5 NET.



) ONKRON

Parts List
KoMnnekT cbopku

]

i d

BB (x4)
CC (x4)
8 ey
DD 4040 (x12) EE 8080 (x4)

Il (x3) KK (x4)

W(@ (««««(«f(«(«@

A1 M8x20 B1 M8x35
(x16) (x2)

@ 1(((((( C c1 M8x25

&

D1 M8 E1016x08.2x1.5
(

L

x16) (x16)
Y
\g F1 (x56)
G156 (x1)
15x15x40
(x1)

@®\%

-

A Mbx12 B M6x25 CM8x12 DMS8x25 E@16x06.2x1.5 F@17x@9x 14
x16 x16 x16 x16 x16 x16
p=— i)



) ONKRON

1. Assembly of the corner DD 4040
C6opka yronka DD 4040

2. Assembly of cross beams with corners
CbopKa nonepeyHbix 6anoK c yronkamu

P!
(8~




) ONKRON

3. Assembly of the stand's base
C6opKa 0CHOBaHMA CTONKMU

'\\_I?,/_ —
[ 237 mm
(9 36"

4. Assembly of the base with wheels
C6opKa basbl CTOMKM C Konecamm @D




5. Assembly of the EE 8080 corner
C6opka yronka EE 8080

EE 8080

6. Assembly of vertical supports GG
C6opka BepTMKanbHbix onop GG

GG

) ONKRON

EE 8080



7. Assembly of vertical supports and crossheam
C6opKa BepTUKalbHbIX ONOP U NonepevHomn banku

2 670 mm




8. Assembly of the VESA panel
C6opka VESA naHenu cTomnKku







9. Adjusting the distance between the VESA panels
Perynuposka pacctoAaHua mexagy VESA naHenAmMu

) T 100 OO

y

oo i

OO0 OO0

10. Installation of the guides on the flat-screen TV
YcTaHOBKa HanpasnALWMUX Ha NIOCKUA TeNeBU30p

FO217x@9x 14

A M6x12
B M6x25 —--—

|
C M8x12 (do not need E/He HyHbI E) L =—— il

D M8x25 (do not need E/He HyHbI E) — —

AA Flat screen
Mnockasa 3a[HAA NaHenb TeseBn3opa

‘ ) (Flat screen is not provided)
E 01 GXQG-ZX‘IE\L "’;; (He BXOAWT B KOMMNEKT CTOMKM)

A/B/C/D
FF - E 016x06.2x1.5
Flat screen
[Mnockana 3agHAA ‘

naHesb Tenesm3opa :
(Flat screen is not provided) FO17x@9x 14 @ Flat screen

(He BXOAUT B KOMMJIEKT CTOWKK) Mnockan sapHAR
naHesb TeneBn3opa



) ONKRON

11. Installation of the monitors
YcTaHOBKA MOHUTOPOB




12. Adjusting the position of monitors
PerynupoBKa nonoxeHMA MOHUTOPOB

1900 mm (74 75")
13. Installing plugs - 1230 rom (47") -
YcTaHoBKa 3arnyLek

‘<
-t

433 mm (17")
200 mm (7‘7/5")

ry
=

[ ]
1961.3 mm (77")

v

20221206
@ onkron.com



